Q1. What were the expectations of the planners of Nehru era? Were there expectations
actualized?

Q2.what are the criticism against the policies of Nehru era? How far were these criticisms
true?

Q3.do you agree with the view that the continued acceleration in domestic growth of the
Indian economy during the period 1950-2008 can be attributed to increased domestic savings
and investment? Highlights some of the challenges that need to be addressed if the growth
momentum is to be sustained?

Q4.do you agree with the growth that high growth rate in India has been sustained by high
domestic savings and investments? Give reasons for you answer.

Q5. Differences between Nehru-mahalanobis model and the vavil-brahmananda model?
(short answer question)

Q6. discuss India’s saving performance since advent of planning.

Q7. What do you mean by India’s economy growth? Discuss the problems facing by Indian
economy in the recent years.

Q8. Compare India’s growth with Non-African poor.
Q9. Compare India among BRICS nations.
Q10. discuss regional disparity in India.

Q11. Discuss sustainable growth.

UNIT-2

Q1. How is India’s performance on various qualitative and quantitative indicators of
education and literacy ? briefly describe the various interstate and social inequalities with
respect to education and literacy.

Q2. Explain the role played by the state and other state holders in promoting literacy and
spreading school education in Indian.

Q3. Explain the role of government and NGOS in improving access to schooling in India.
Does it also ensure improved quality of schooling?



Q4. Discuss the facts and figure related to food nutrition in India. Suggested ways and means
of improving the indicators.

Q5. Discuss the inequalities in access of health services in India.

Q6. What are the barriers in equality in access to health services and what are the remedial
measures.

Q7. Discuss the disparities in literacy level in India also discuss the steps required to reduce
illiteracy in India.

Q1. Discuss the job les growth in India during 20005. What are the challenges which Indian
labour has to face in modern labour market?

Q2. “The reform process has meant increasing inequalities with regard to growth and
employment in India. ”

Q3. Trends in inequalities in India.
Q4. Broad trends in labour absorption in India during 2000.

UNIT-4

QL. Elaborate on the main features of India ‘s demographic transition since 1951
highlighting regional contrasts and gender inequalities, factors that explain the differences.

Q2. Explain the process through which demographic transition open the demographic
window. Under what circumstances can this window be actualized in India?

Q3. Analyze the changes in India ‘s demographic profile since 1951. Is the concern about
India’s population problem justified ?

Q4. What are the care factors behind the growth of china ? compare and contrast with the
case of growth in India.



